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The ratio of the number of males and females in a group is 6 : 7. Fifteen females leave the
group. As a result, this ratio becomes 12 : 11. Now, if 6 males join the group, then what will be
the ratio of the num of maIes and females in the group?
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When an article is sold at a discount of 40%o0n its marked price, the profit is 25%.

What is the ratlo of the cost price to the marked price of the article?
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The sides of a triangular park are 200 m, 210 m and 290 m. The area of the park (i
hectares) is?
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In an examination, 40% of the students who appeared were boys and rest were girls. The pass
percentage of the boys was 60% and overall pass percentage was 56%. What was the pass
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A shopkeeper wrongly calculates his profit on the selling price of an article and finds
it to be 40%. What i |s his actual profit percentage?
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The diameter of a wheel is 70 cm. It completes 600 revolutions in 1 minute. The
speed, in km/h, of the vehicl
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1000 solid spherical balls each of radius 0.6 cm are melted and recast into a single spherical ball.

What is the surface area(incm?2)of ball so formed?
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The average of a few numbers is 48. If 75%ofthe numbers are increased by 4 each and the rest
are decreased by 6 each, the }éwhat is the average of the numbers, so obtained?
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A person buys a certain number of oranges at ¥84 a dozen and two times of it at ¥72 a dozen.

He sells all the oranges at ¥90 a dozen and makes a profit of ¥1680. How many oranges does he
buy?
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By selling an article for 300, a person incurred a loss of 6.25%. What is his profit,
is sold for 33527
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The ratio of spirit and water in solutions in vessels Aand B are 3 : 4 and 5: 9, respectively. The

contents of A and B are mixed in the ratio 2 : 3. What is the ratio of water and spirit in the
resultmg olution?
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By selling 30 articles, a shopkeeper gains the selling price of 9 articles. His gain
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Two pipes can fill a tank in 12 hours and 15 hours respectively and third pipe emptyitin 6 hours
If first two pipes opens for 5 hours and then third pipe also opened then find in how many hours
the tank will empty?
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Pipe A and Pipe B can fill the tank in 24 and 30 hrs respectively, while Pipe C can empty |t in X
hours. If A and B are opened for10hours after that C is opened, it empties the tank in 90 hours,
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The ratio of incomes of A and B is 3 : 8 and the ratio of their savings is 9 : 25.Ifthe
incgme of A equals the expendltur% then the ratio of expenditures of A and Bis ?
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A is more efficient than B and they together can complete a work in 24 days. Had A done 50% of
the work and then B, the remaining work, then the work would have been done in 50 days. B
anne will complete 4 /e'cﬁf%he same work in?

@farﬁw d fudor v o1l 3l H T&d q
%m Wﬁ%?sﬁw%ma‘%ﬁﬁ?o ﬁwwa‘ra%ﬁl;lr%élﬁ





































